
Springs

Hooke’s Law

Force-extension graph

Related questions P4 book

F= Ku
,

F= force on the spring
K: spring constant
x = change in length of the spring

x = 1- lo
,
l = new length1 1= original length
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* a straight line passing through
the origin ,

till the proportional Force - limit of proportalitymfaient hookeaeyed anymore
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orce is proportional
to the extension

,

hooke's law is being obeyed
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Emp * The "gradient" of the line is the
extension(m)

value of spring
constant"(()" of the spring
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